FUBAG JI.CTAHOK I PE3KU IIVIMTKU 1 KAMHSA FM 180 PLUS (U ®P 38386)

HO3ULUA KOJI HAVUMEHOBAHUE KOJI-BO
1 3283060498 CTOJIEIIHMIIA (395x385mm) 1
2 4038010003 BUHT (4.2x9.5) 2
3 2216010040 TUTUTA 1
4 4034010005 BUHT (M4x10) 2
5 2216010041 VIOJIOK KPEITEXHBIA 1
6 4040010079 T'AVKA M5 2
7 2228000006 BUHT 2
8 2217000075 KOXYX 1
9 5047000207 TIEPEKJIIOYATEJIh 1
10 2219000415 PYUKA (M6-18-8) 2
11 4039010016 LIAMBA (6x18) 4
12 2116010040 TUIACTUHA ®UKCHUPYIOIIAS 2
13 4038010011 BUHT (2.9x12) 4
14 2223000011 OIIOPA 4
15 2116010041 XOMYT 1
16 5046000038 KOHJIEHCATOP 1
17 2216060076 OCHOBAHUE 1
18 4038010020 BUHT (3.5x12) 5
19 3084000125 KABEJIb CETEBOM (3x0.75x2.55) 1
20 2219000086 KPOHILTEWH KPEIUIEHWS KABEJIS 2
21 4038010032 BUHT (4.2x16) 4
22 2029000003 LIEITb 1
23 2219000091 [TPOBKA 1
24 2223000012 KOJIbLIO VIUIOTHUTEJIBHOE (22.4x2.65-A) 1
25 4041030026 KOJIBLIO CTOITOPHOE 1
26 2217000045 KPBLIBYATKA 1
27 3280000016 MOTOP 1
28 4039010055 LIABA 1
29 5064000019 LIABA 1

30-31 4031010018 BUHT (M5.6) 1
32 4038010001 BUHT (4.8x32) 4
33 2223000013 KOJIBLIO YIUIOTHUTEJIBHOE (36x42) 1
34 2223000003 CAJIBHUK (30x17x5) 1
35 2220000018 TIPOKJIAJIKA 2
36 4031010030 BUHT (M5x12x12) 2
37 2220000002 TIPOKJIAJIKA 1
38 2214000003 ®JIAHELL YCTAHOBOYHBII (BHY TPEHHUI) (50x22.2) 1
39 TOBapHas TpyIIa JIMCK 1
40 2214000004 ®JIAHEL] YCTAHOBOUYHbIN (BHELIHWIA) 1
41 4040010030 TAKA M12 1




42 4040010007 TAVIKA M6 2
43 2219000307 KOXYVX 3ALLIMTHbIN 1
44 4031010120 BUHT (M6x16) 2
45 2219000369 VTOJIOK YIIOPHBIV 1
46 2216010028 IIACTUHA 2
47 2217000046 3AXKNUM 2
48 4038010029 TAMKA (4.2x9.5) 2
49 4040010080 TAVIKA M6 1
50 2219000155 KOXYX 3ALLIUTHBINA 1
51 4036010013 BUHT (M6x35) 1
52 2214000025 HATIPABJISIOLLIAS (397mm) 1
53 2029000015 KOJIbLIO 1
54 2216010005 KJIIOY MAJIBINA 1
55 2216010006 KJIOY TOPLIEBOM 1
56 2219000088 PYUKA (M6x18-8) 2
57 2219000372 TPAHCIIOPTUP 1
58 4039010018 LIAMBA (6x18x1.5) 1
59 2219000084 PYUKA (6x14) 1




	камнерезный станок

